
szkic rozwiązania – Jacek Kredenc 
 

Pole Eudoksosa 

Zadanie 1. 

Oblicz pole odcinka paraboli 𝑦 = 𝑥2 o cięciwie AB, jeśli 

a) 𝐴 = (0; 0); 𝐵 = (2; 4) 

b) 𝐴 = (1; 1); 𝐵 = (3; 9) 

c) 𝐴 = (𝜋; 𝜋2); 𝐵 = (4; 16) 

d) 𝐴 = (√2; 2); 𝐵 = (√5; 5) 

Rozwiązanie 

a) 

𝑎 =
4

2
= 2 

𝑦′ = 2𝑥 

2𝑥 = 2 

𝑥 = 1 

𝑦 = 1 

𝐶 = (1; 1) 

𝑃𝐴𝐵𝐶 =
1

2
||

1 1 1
0 2 1
0 4 1

|| =
1

2
|2 − 4| =

1

2
∙ |−2| = 1 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙ 1 =

4

3
 

b) 

𝑎 =
8

2
= 4 

𝑦′ = 2𝑥 

2𝑥 = 4 

𝑥 = 2 

𝑦 = 4 

𝐶 = (2; 4) 

𝑃𝐴𝐵𝐶 =
1

2
||

1 1 1
1 3 2
1 9 4

|| =
1

2
|12 + 2 + 9 − 3 − 18 − 4| =

1

2
∙ |−2| = 1 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙ 1 =

4

3
 

  



c) 

𝑎 =
16 − 𝜋2

4 − 𝜋
=

(4 − 𝜋)(4 + 𝜋)

4 − 𝜋
= 4 + 𝜋 

𝑦′ = 2𝑥 

2𝑥 = 4 + 𝜋 

𝑥 = 2 +
𝜋

2
 

𝑦 = (2 +
𝜋

2
)

2

= 4 + 2𝜋 +
𝜋2

4
 

𝐶 = (2 +
𝜋

2
; 4 + 2𝜋 +

𝜋2

4
) 

𝑃𝐴𝐵𝐶 =
1

2 |

|
|
|

1 1 1

𝜋 4 2 +
𝜋

2

𝜋2 16 4 + 2𝜋 +
𝜋2

4

|
|
|

|
= 

=
1

2
|16 + 8𝜋 + 𝜋2 + 2𝜋2 +

𝜋3

2
+ 16𝜋 − 4𝜋2 − 32 − 8𝜋 − 4𝜋 − 2𝜋2 −

𝜋3

4
| = 

=
1

2
|
𝜋3

4
− 3𝜋2 + 12𝜋 − 16| =

1

2
(−

𝜋3

4
+ 3𝜋2 − 12𝜋 + 16) = 

= −
𝜋3

8
+

3𝜋2

2
− 6𝜋 + 8 

𝑃 =
4

3
𝑃𝐴𝐵𝐶 =

4

3
(−

𝜋3

8
+

3𝜋2

2
− 6𝜋 + 8) = −

𝜋3

6
+ 2𝜋2 − 8𝜋 +

32

3
 

d) 

𝑎 =
16 − 𝜋2

√5 − √2
=

3√5 + 3√2

3
= √5 + √2 

𝑦′ = 2𝑥 

2𝑥 = √5 + √2 

𝑥 =
√5 + √2

2
 

𝑦 = (
√5 + √2

2
)

2

=
5 + 2√10 + 2

4
=

7 + 2√10

4
 

𝐶 = (
√5 + √2

2
;
7 + 2√10

4
) 

𝑃𝐴𝐵𝐶 =
1

2 |

|

|

|

1 1 1

√2 √5
√5 + √2

2

2 5
7 + 2√10

4

|

|

|

|
= 



=
1

2
|
7√5 + 10√2

4
+ √5 + √2 + 5√2 − 2√5 −

5√5 + 5√2

2
−

7√2 + 4√5

4
| = 

=
1

2
|
−7√5 − 7√2

4
− √5 + 6√2| =

7√5 + 7√2

8
+

√5

2
− 3√2 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙ (

7√5 + 7√2

8
+

√5

2
− 3√2) =

7√5 + 7√2

6
+

2√5

3
− 4√2 

 

Zadanie 2. 

Oblicz pole odcinka paraboli 𝑦 = (𝑥 − 3)2 − 2 o cięciwie AB, jeśli: 

a) 𝐴 = (0; 7); 𝐵 = (2; −1) 

b) 𝐴 = (1; 2); 𝐵 = (3; −2) 

c) 𝐴 = (𝜋; 𝜋2 − 6𝜋 + 2); 𝐵 = (4; −1) 

d) 𝐴 = (√2; 9 − 6√2); 𝐵 = (√5; 12 − 6√5) 

Rozwiązanie 

a) 

𝑎 =
−1 − 7

2
= −4 

𝑦 = (𝑥 − 3)2 − 2 = 𝑥2 − 6𝑥 + 9 − 2 = 𝑥2 − 6𝑥 + 7 

𝑦′ = 2𝑥 − 6 

2𝑥 − 6 = −4 

2𝑥 = 2 

𝑥 = 1 

𝑦 = 𝑥2 − 6𝑥 + 7 = 1 − 6 + 7 = 2 

𝐶 = (1; 2) 

𝑃𝐴𝐵𝐶 =
1

2
||

1 1 1
0 2 1
7 −1 2

|| =
1

2
||4 + 7 − 14 + 1|| =

1

2
∙ 2 = 1 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙ 1 =

4

3
 

b) 

𝑎 =
−2 − 2

3 − 1
=

−4

2
= −2 

𝑦 = (𝑥 − 3)2 − 2 = 𝑥2 − 6𝑥 + 9 − 2 = 𝑥2 − 6𝑥 + 7 

𝑦′ = 2𝑥 − 6 

2𝑥 − 6 = −2 

2𝑥 = 4 

𝑥 = 2 

𝑦 = 𝑥2 − 6𝑥 + 7 = 22 − 6 ∙ 2 + 7 = −1 



𝐶 = (2; −1) 

𝑃𝐴𝐵𝐶 =
1

2
||

1 1 1
1 3 2
2 −2 −1

|| =
1

2
|−3 + 4 − 2 − 6 + 4 + 1| =

1

2
∙ 2 = 1 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙ 1 =

4

3
 

c) brak 

d) 

𝑎 =
12 − 6√5 − 9 + 6√2

√5 − √2
=

(3 + 6(√2 − √5)) (√5 + √2)

(√5 − √2)(√5 + √2)
= 

=
(3 + 6(√2 − √5)) (√5 + √2)

5 − 2
=

(3 + 6(√2 − √5)) (√5 + √2)

3
= 

= (1 + 2(√2 − √5)) (√5 + √2) = √5 + √2 − 6 

𝑦 = (𝑥 − 3)2 − 2 = 𝑥2 − 6𝑥 + 9 − 2 = 𝑥2 − 6𝑥 + 7 

𝑦′ = 2𝑥 − 6 

2𝑥 − 6 = √5 + √2 − 6 

2𝑥 = √5 + √2 

𝑥 =
√5 + √2

2
 

𝑦 = 𝑥2 − 6𝑥 + 7 = (
√5 + √2

2
)

2

− 6 ∙
√5 + √2

2
+ 7 =

5 + 2√10 + 2

4
− 3√5 − 3√2 + 7 

=
7 + 2√10

4
− 3√5 − 3√2 + 7 =

35 + 2√10

4
− 3√5 − 3√2 

𝐶 = (
√5 + √2

2
;
35 + 2√10

4
− 3√5 − 3√2) 

𝑃𝐴𝐵𝐶 =
1

2 |

|

|

|

1 1 1

√2 √5
√5 + √2

2

9 − 6√2 12 − 6√5
35 + 2√10

4
− 3√5 − 3√2

|

|

|

|
= 

=
1

2
|1 ∙ √5 ∙ (

35 + 2√10

4
− 3√5 − 3√2) + 1 ∙

√5 + √2

2
∙ (9 − 6√2) + 1 ∙ √2 ∙ (12 − 6√5)

− 1 ∙ √5 ∙ (9 − 6√2) −
√5 + √2

2
∙ (12 − 6√5) ∙ 1

− (
35 + 2√10

4
− 3√5 − 3√2) ∙ 1 ∙ √2| = 



=
1

2
|
35√5 + 10√2

4
− 15 − 3√10 +

9√5 − 6√10 + 9√2 − 12

2
+ 12√2 − 6√10 − 9√5

+ 6√10 −
12√5 − 30 + 12√2 − 6√10

2
−

35√2 + 4√5

4
+ 3√10 + 6| = 

=
1

2
|
17√2

4
−

11√5

4
| =

11√5 − 17√2

8
 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙

11√5 − 17√2

8
=

11√5 − 17√2

6
 

Zadanie 3. 

Oblicz pole odcinka paraboli 𝑦 = (3𝑥 − 2)2 − 1 o cięciwie AB, jeśli 

a) 𝐴 = (0; 3); 𝐵 = (2; 15) 

b) 𝐴 = (1; 0); 𝐵 = (3; 48) 

c) 𝐴 = (𝜋; 9𝜋2 − 12𝜋 + 3); 𝐵 = (4; 99) 

d) 𝐴 = (√2; 21 − 12√2); 𝐵 = (√5; 48 − 12√5) 

Rozwiązanie 

a) 

𝑎 =
15 − 3

2
= 6 

𝑦 = (3𝑥 − 2)2 − 1 = 9𝑥2 − 12𝑥 + 4 − 1 = 9𝑥2 − 12𝑥 + 3 

𝑦′ = 18𝑥 − 12 

18𝑥 − 12 = 6 

3𝑥 − 2 = 1 

3𝑥 = 3 

𝑥 = 1 

𝑦 = 9𝑥2 − 12𝑥 + 3 = 9 − 12 + 3 = 0 

𝐶 = (1; 0) 

𝑃𝐴𝐵𝐶 =
1

2
||

1 1 1
0 2 1
3 15 0

|| =
1

2
|3 − 6 − 15| = 9 

𝑃 =
4

3
∙ 9 = 12 

b) 

𝑎 =
48

2
= 24 

𝑦 = (3𝑥 − 2)2 − 1 = 9𝑥2 − 12𝑥 + 4 − 1 = 9𝑥2 − 12𝑥 + 3 

𝑦′ = 18𝑥 − 12 

18𝑥 − 12 = 24 

3𝑥 − 2 = 4 

3𝑥 = 6 



𝑥 = 2 

𝑦 = 9𝑥2 − 12𝑥 + 3 = 9 ∙ 22 − 12 ∙ 2 + 3 = 36 − 24 + 3 = 15 

𝐶 = (2; 15) 

𝑃𝐴𝐵𝐶 =
1

2
||

1 1 1
1 3 2
0 48 15

|| =
1

2
|45 + 48 − 96 − 15| =

1

2
|−18| = 9 

𝑃 =
4

3
∙ 9 = 12 

c) 

𝑎 =
99 − 9𝜋2 + 12𝜋 − 3

4 − 𝜋
=

96 − 9𝜋2 + 12𝜋

4 − 𝜋
= 9𝜋 + 24 

𝑦 = (3𝑥 − 2)2 − 1 = 9𝑥2 − 12𝑥 + 4 − 1 = 9𝑥2 − 12𝑥 + 3 

𝑦′ = 18𝑥 − 12 

18𝑥 − 12 = 9𝜋 + 24 

6𝑥 − 4 = 3𝜋 + 8 

6𝑥 = 3𝜋 + 12 

𝑥 =
1

2
𝜋 + 2 

𝑦 = 9𝑥2 − 12𝑥 + 3 = 9 ∙ (
1

2
𝜋 + 2)

2

− 12 ∙ (
1

2
𝜋 + 2) + 3 = 

= 9 ∙ (
1

4
𝜋2 + 2𝜋 + 4) − 6𝜋 − 24 + 3 =

9

4
𝜋2 + 18𝜋 + 36 − 6𝜋 − 24 + 3 = 

=
9

4
𝜋2 + 12𝜋 + 15 

𝐶 = (
1

2
𝜋 + 2;

9

4
𝜋2 + 12𝜋 + 15) 

𝑃𝐴𝐵𝐶 =
1

2 |

|
|
|

1 1 1

𝜋 4
1

2
𝜋 + 2

9𝜋2 − 12𝜋 + 3 99
9

4
𝜋2 + 12𝜋 + 15

|
|
|

|
= 

=
1

2
|1 ∙ 4 ∙ (

9

4
𝜋2 + 12𝜋 + 15) + 1 ∙ (

1

2
𝜋 + 2) ∙ (9𝜋2 − 12𝜋 + 3) + 1 ∙ 𝜋 ∙ 99 − 1 ∙ 4

∙ (9𝜋2 − 12𝜋 + 3) − (
1

2
𝜋 + 2) ∙ 99 ∙ 1 − (

9

4
𝜋2 + 12𝜋 + 15) ∙ 1 ∙ 𝜋| = 

=
1

2
|9𝜋2 + 48𝜋 + 60 +

9

2
𝜋3 − 6𝜋2 +

3

2
𝜋 + 18𝜋2 − 24𝜋 + 6 + 99𝜋 − 36𝜋2 + 48𝜋 − 12

−
99

2
𝜋 − 198 −

9

4
𝜋3 − 12𝜋2 − 15𝜋| = 

=
1

2
|
9

4
𝜋3 − 17𝜋2 + 84𝜋 − 144| =

9

8
𝜋3 −

17

2
𝜋2 + 42𝜋 − 72 

𝑃 =
4

3
∙ (

9

8
𝜋3 −

17

2
𝜋2 + 42𝜋 − 72) =

3

2
𝜋3 −

34

3
𝜋2 + 56𝜋 − 96 



 

d) 

𝑎 =
48 − 12√5 − 21 + 12√2

√5 − √2
=

27 + 12(√2 − √5)

√5 − √2
=

(27 + 12(√2 − √5)) (√2 + √5)

(√5 − √2)(√5 + √2)
= 

=
27(√2 + √5) − 36

3
= 9(√2 + √5) − 12 

𝑦 = (3𝑥 − 2)2 − 1 = 9𝑥2 − 12𝑥 + 4 − 1 = 9𝑥2 − 12𝑥 + 3 

𝑦′ = 18𝑥 − 12 

18𝑥 − 12 = 9(√2 + √5) − 12 

18𝑥 = 9(√2 + √5) 

2𝑥 = (√2 + √5) 

𝑥 =
√2 + √5

2
 

𝑦 = 9𝑥2 − 12𝑥 + 3 = 9 ∙ (
√2 + √5

2
)

2

− 12 ∙
√2 + √5

2
+ 3 = 

= 9 ∙
7 + 2√10

4
− 6√2 − 6√5 + 3 =

63 + 18√10

4
− 6√2 − 6√5 + 3 

𝐶 = (
√2 + √5

2
;
63 + 18√10

4
− 6√2 − 6√5 + 3) 

𝑃𝐴𝐵𝐶 =
1

2 |

|

|

|

1 1 1

√2 √5
√2 + √5

2

𝟐𝟏 − 𝟏𝟐√𝟐 𝟒𝟖 − 𝟏𝟐√𝟓
63 + 18√10

4
− 6√2 − 6√5 + 3

|

|

|

|
= 

=
1

2
|
63√5 + 90√2

4
− 6√10 − 30 + 3√5 +

21√2 − 24 + 21√5 − 12√10

2
+ 48√2 − 12√10

− 21√5 + 12√10 − 24√2 + 6√10 − 24√5 + 30 −
63√2 + 36√5

4
+ 12

+ 6√10 − 3√2| = 

=
1

2
|28

1

4
√2 − 24

3

4
√5 − 6√10| = 3√10 + 12

3

8
√5 − 14

1

8
√2 

𝑃 =
4

3
∙ (3√10 + 12

3

8
√5 − 14

1

8
√2) = 4√10 + 16

1

2
√5 − 18

5

6
√2 

 

  



Zadanie 4. 

Oblicz pole odcinka paraboli 𝑦 = (2𝑥 − 3)(3𝑥 − 4) o cięciwie AB, jeśli: 

a) 𝐴 = (0; 12); 𝐵 = (2; 2) 

b) 𝐴 = (1; 1); 𝐵 = (3; 15) 

c) 𝐴 = (𝜋; 6𝜋2 − 17𝜋 + 12); 𝐵 = (4; 40) 

d) 𝐴 = (√2; 24 − 17√2); 𝐵 = (√5; 42 − 17√5) 

Rozwiązanie 

a)  

𝑎 =
−10

2
= −5 

𝑦 = (2𝑥 − 3)(3𝑥 − 4) = 6𝑥2 − 8𝑥 − 9𝑥 + 12 = 6𝑥2 − 17𝑥 + 12 

𝑦′ = 12𝑥 − 17 

12𝑥 − 17 = 5 

12𝑥 = 22 

𝑥 =
11

6
 

𝑦 = 6𝑥2 − 17𝑥 + 12 = 6 ∙ (
11

6
)

2

− 17 ∙
11

6
+ 12 =

121

6
−

187

6
+ 12 = −11 + 12 = 1 

𝐶 = (
11

6
; 1) 

𝑃𝐴𝐵𝐶 =
1

2 |||

1 1 1

0 2
11

6
12 2 1

||| =
1

2
|2 + 22 − 24 −

11

3
| =

1

2
|−

11

3
| =

11

6
 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙

11

6
=

22

9
 

 

 

b)  

𝑎 =
14

2
= 7 

𝑦 = (2𝑥 − 3)(3𝑥 − 4) = 6𝑥2 − 8𝑥 − 9𝑥 + 12 = 6𝑥2 − 17𝑥 + 12 

𝑦′ = 12𝑥 − 17 

12𝑥 − 17 = 7 

12𝑥 = 24 

𝑥 = 2 

𝑦 = 6𝑥2 − 17𝑥 + 12 = 6 ∙ 22 − 17 ∙ 2 + 12 = 24 − 34 + 12 = 2 

𝐶 = (2; 2) 



𝑃𝐴𝐵𝐶 =
1

2
||

1 1 1
1 3 2
1 15 2

|| =
1

2
|6 + 2 + 15 − 3 − 30 − 2| =

1

2
|−12| = 6 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙ 6 = 8 

 

c)  

𝑎 =
40 − 6𝜋2 + 17𝜋 − 12

4 − 𝜋
=

28 − 6𝜋2 + 17𝜋

4 − 𝜋
= 6𝜋 + 7 

𝑦 = (2𝑥 − 3)(3𝑥 − 4) = 6𝑥2 − 8𝑥 − 9𝑥 + 12 = 6𝑥2 − 17𝑥 + 12 

𝑦′ = 12𝑥 − 17 

12𝑥 − 17 = 6𝜋 + 7 

12𝑥 = 6𝜋 + 24 

𝑥 =
1

2
𝜋 + 2 

𝑦 = 6𝑥2 − 17𝑥 + 12 = 6 ∙ (
1

2
𝜋 + 2)

2

− 17 ∙ (
1

2
𝜋 + 2) + 12 = 

= 6 ∙ (
1

4
𝜋2 + 2𝜋 + 4) −

17

2
𝜋 + 34 + 12 =

3

2
𝜋2 + 12𝜋 + 24 −

17

2
𝜋 + 48 = 

=
3

2
𝜋2 +

7

2
𝜋 + 72 

𝐶 = (
1

2
𝜋 + 2;

3

2
𝜋2 +

7

2
𝜋 + 72) 

𝑃𝐴𝐵𝐶 =
1

2 |

|
|
|

1 1 1

𝜋 4
1

2
𝜋 + 2

6𝜋2 − 17𝜋 + 12 40
3

2
𝜋2 +

7

2
𝜋 + 72

|
|
|

|
= 

=
1

2
|6𝜋2 + 14𝜋 + 288 + 3𝜋3 −

17

2
𝜋2 + 6𝜋 + 12𝜋2 − 34𝜋 + 24 + 40𝜋 − 24𝜋2 + 68𝜋

− 48 − 20𝜋 − 80 −
3

2
𝜋3 −

7

2
𝜋2 − 72𝜋| = 

=
1

2
|
3

2
𝜋3 − 18𝜋2 + 2𝜋 + 184| =

3

4
𝜋3 − 9𝜋2 + 𝜋 + 92 

𝑃 =
4

3
∙ 𝑃𝐴𝐵𝐶 =

4

3
∙ (

3

4
𝜋3 − 9𝜋2 + 𝜋 + 92) = 𝜋3 − 12𝜋2 +

4

3
𝜋 +

368

3
 

 

d)  

𝑎 =
42 − 17√5 − 24 + 17√2

√5 − √2
=

(18 + 17(√2 − √5)) (√2 + √5)

(√5 − √2)(√2 + √5)
= 

=
18√2 + 18√5 − 17 ∙ 3

3
= 6√2 + 6√5 − 17 



𝑦 = (2𝑥 − 3)(3𝑥 − 4) = 6𝑥2 − 8𝑥 − 9𝑥 + 12 = 6𝑥2 − 17𝑥 + 12 

𝑦′ = 12𝑥 − 17 

12𝑥 − 17 = 6√2 + 6√5 − 17 

12𝑥 = 6√2 + 6√5 

𝑥 =
1

2
√2 +

1

2
√5 

𝑦 = 6𝑥2 − 17𝑥 + 12 = 6 ∙ (
1

2
√2 +

1

2
√5)

2

− 17 ∙ (
1

2
√2 +

1

2
√5) + 12 = 

= 6 ∙ (
1

2
+

5

4
+

1

2
√10) −
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